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Week 3 No Fear Crib Sheet

This is the No Fear Crib Sheet.
It folds into three and can fit in your pocket.

♣♦♥♠ ♣♦♥♠



U3A Intermediate Bridge
Week 3 No Fear Crib Sheet

Opening bids

Find our way around the No Fear Crib sheet
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Responding bids

Find our way around the No Fear Crib sheet
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Opener’s rebids

Find our way around the No Fear Crib sheet
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Opening bids with a balanced hand and subsequent ...

Find our way around the No Fear Crib sheet
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Opening bids with an unbalanced hand and subsequent ...

Find our way around the No Fear Crib sheet
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Overcalling bids and subsequent ...
Takeout Double Double of 1NT

Find our way around the No Fear Crib sheet
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Conventions

Find our way around the No Fear Crib sheet
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Scoring

Find our way around the No Fear Crib sheet
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Hand evaluation
Rule of twenty
Contract guide

Find our way around the No Fear Crib sheet
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Week 3 1NT

The first non-pass bid is the opening bid.

There is only ONE opening bid.

Each time a bid is made, the meaning of each subsequent bid 
changes.

So, what does 1NT mean? ...
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What does       1NT        mean?
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What does       1NT        mean? 6..9 bal + stopper
12..14HCP bal 15..16 bal      16..18 bal + stopper

6-9 nothing better 9..12 bal
bal or unbal + stopper

Opener Opener’s rebid Overcall Overcall
Responder Takeout double response response

U3A Intermediate Bridge
Week 3 1NT
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Week 3 1NT

What does       1NT        mean? 6..9 bal + stopper
12..14HCP bal (assuming an ACOL weak No Trump) 6-9 nothing 
better 9..12 bal

bal or unbal + stopper
Opener Opener’s rebid Overcall Overcall

Responder Takeout double response response
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What does       1NT        mean? 6..9 bal + stopper
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What does       1NT        mean? 6..9 bal + stopper
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What does       1NT        mean? 6..9 bal + stopper
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What does       1NT        mean? 6..9 bal + stopper
12..14HCP bal 15..16 bal      16..18 bal + stopper

6-9 nothing better 9..12 bal
bal or unbal + stopper

Opener Opener’s rebid Overcall Overcall
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What does       1NT        mean? 6..9 bal + stopper
12..14HCP bal 15..16 bal 16..18 bal + stopper

6-9 nothing better 9..12 bal
bal or unbal + stopper

Opener Opener’s rebid Overcall Overcall
Responder Takeout double response response
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Today’s chapter is “responding to an opening 1NT bid”
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Week 3 Responding to 1NT

We are using the ACOL opening weak 1NT.
12..14 HCP and a balanced hand.
Partner says out loud “Twelve to fourteen”.

Opener’s plan is to make no rebid.

Other pairs may well use other meanings for opening 1NT. That 
is why it is announced.
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Responder’s bid with a balanced hand.

If Responder has 5332 shape, he may be better considering it as 
unbalanced – see a later slide – especially if weak.

If Responder has an L4+major and enough points he will want to use 
Stayman first.

Expect Pass or 3NT

Expect Pass or 6NT

7NT25+

5NT choose slam23..24

6NT slam21..22

4NT invite slam19..20

3NT game13..18

2NT invite game11..12

Pass0..10

Expect 6NT or 7NT
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Why these responses?

Consider the partnerships HCP count.

37+

35..38

33..36

31..34

25..32

23..26

12..24

7NT25+

5NT choose slam23..24

6NT slam21..22

4NT invite slam19..20

3NT game13..18

2NT invite game11..12

Pass0..10

This is what you do with a balanced hand if you are
without L4+major

or not interested in a “weak take out” (WTO).

Game needs 25+HCP

Slam needs 33+HCP

Grand slam needs 37+HCP
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What is a Weak Take Out (WTO)?

A 1NT opening is a pre-emptive bid. If Responder is weak (normally 
he would pass, 0..10 HCP) then it is likely to fail. However if the weak 
Responder has a long suit, that may be valuable as trumps – and 
because the 1NT is balanced we already know Opener L2+ of that 
suit.

A WTO bids the long suit in the hope (expectation) that it won’t be 
quite as bad as the 1NT.

2♦, 2♥ and 2♠ are all WTOs. A L5+ suit is sufficient to bid this and 
the weaker Responder is, the more important it is to bid the WTO.

But what about clubs? 2♣ is reserved for the Stayman convention.

A WTO in clubs goes through Stayman and ends up in 3♣ which is 
the WTO bid. You need L6+♣ to bid a 3♣ WTO.
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After Responder bids a WTO, 

Opener never rebids.
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We have reviewed basic balanced responses and WTOs.

What are the main bidding targets of a partnerships?
(Chapter 2 page 9)

(1) An 8-card (or better) fit in a major suit

(2) A NT contract

(3) A minor suit contract

The balanced responses meet target (2).

But maybe you have a fit in a major suit (1) despite being balanced.

This is where Stayman comes in.
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If Responder has one or more L4major (but no L5+major) then 
Stayman may be called for.

Stayman endeavours to find a 4-4 major suit fit.

If a fit is not found, Responder needs to bid whatever he would have 
bid if he didn’t use Stayman:

37+

35..38

33..36

31..34

25..32

23..26

12..24

7NT25+

5NT choose slam23..24

6NT slam21..22

4NT invite slam19..20

3NT game13..18

2NT invite game11..12

Pass0..10

Responder needs 11+ HCP 
to use Stayman unless he 
was planning a WTO.
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How does Stayman work?

Opener: 1NT (Responder says “12 to 14”)

Responder: 2♣ (Opener says “Stayman”)

Responder’s Stayman bid is saying
“I have at least one L4 major suit,
do you have any L4+ major suits?”

Opener must not Pass

If Opener has an L4+ major suit, he bids 2♥ or 2♠ (hearts if he has 
both hearts and spades – he has 4432 shape).

If Opener has L3- in both major suits, he bids 2♦, which Responder 
does NOT need to alert (EBU).

What happens next is up to Responder.
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How does Stayman work?

Opener: 1NT (Responder says “12 to 14”)

Responder: 2♣ (Opener says “Stayman”)

Opener: 2♦

Responder: Whatever he would have bid without Stayman:
Pass equals a WTO of 2♦ (L5+♦)
2♥ WTO (L5+♥) 
2♠ WTO (L5+♠)
2NT 11..12 HCP bal, invite game
3♣ WTO (L6+♣)
etc

♣♦♥♠ ♣♦♥♠
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How does Stayman work?

Opener: 1NT (Responder says “12 to 14”)

Responder: 2♣ (Opener says “Stayman”)

Opener: 2♥ Opener has L4♥, may or may not 
have L4♠.

Responder: With L4♥:
3♥ 11..12HCP, inviting game
4♥ 13+HCP, game
With no L4♥ (therefore L4♠):
2NT 11..12HCP, inviting game
3NT 13+HCP, game

♣♦♥♠ ♣♦♥♠
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How does Stayman work?

Opener: 1NT (Responder says “12 to 14”)

Responder: 2♣ (Opener says “Stayman”)

Opener: 2♠ Opener has L4♠, does NOT have 
L4♥.

Responder: With L4♠:
3♠ 11..12HCP, inviting game
4♠ 13+HCP, game
With no L4♠ (may or may not have L4♥):
2NT 11..12HCP, inviting game
3NT 13+HCP, game

♣♦♥♠ ♣♦♥♠
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Say you have the sequence:

Opener: 1NT (Responder says “12 to 14”)

Responder: 2♣ (Opener says “Stayman”)

Opener: 2♥ Opener has L4♥, may or may not 
have L4♠.

Responder: 3NT 13+HCP bal or 
13+ Pts unbal with L5+ minor, game.

If Opener happens to have L4♥ and L4♠, then since Responder didn’t 
have L4♥ (he bid NT) then he must have L4♠. Then:

Opener: 4♠ There is a ♠ fit.
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That deals with the balanced and with the very weak hands.

Note that we did the balanced hands in HCP but we are doing the 
unbalance hands in Pts!

RWPB omits what to do with unbalanced hands of 10..11 Pts.

Rather than leave a gap, I propose
including 10 Pts with 9 Pts
judging from the hand whether to treat 11 Pts as 10 or as 12.

If you have several (at least 3) tens and nines, promote 11�12 Pts, 
otherwise demote 11�10 Pts.

This is almost what the No Fear crib sheet does (it always promotes 
11�12 Pts regardless).
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Unbalanced and enough Pts to not pass

12+ L6+major 4major (♥♠), game

12+ L5+major 3major (♥♠), choose game as 4major or 3NT
With L5♥ & L5♠ bid 3♠, if opener rejects ♠ with 3NT, bid 4♥.
Opener can’t have L2 in both ♥ & ♠.

12+ L4+major 2♣ Stayman, as discussed earlier

11..12 L5+minor 2NT, invite 3NT game

13..18 L5+minor 3NT, game

19+ Try for a slam after finding a fit (later...)

In response to an opening 1NT, never bid an L4 suit (except as part 
of seeking a suit fit through Stayman).
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And that covers all the responses to 1NT except:

I haven’t mentioned 3♣ and 3♦ slam tries. (I haven’t worked them out 
and they are rare)

The “19+ unbal, find a fit and try for a slam” will get covered in the 
slam chapters another week.

Memorise table RWPB page 28

And now a selection of hands to discuss as responder to 1NT ...
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Evaluate the hand?
Shape
HCP
Points

Response to 1NT?

1000-08
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Evaluate the hand?
Shape 6430 unbal. L0♦, L6♠. 
HCP 15
Points 17

Response to 1NT?

1000-08

♣♦♥♠ ♣♦♥♠



U3A Intermediate Bridge
Week 3 Responding to 1NT

Evaluate the hand?
Shape 6430 unbal. L0♦, L6♠. 
HCP 15
Points 17

Response to 1NT? 4♠

1000-08
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Evaluate the hand?
Shape
HCP
Points

Response to 1NT?

1000-14
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Evaluate the hand?
Shape 4432 bal. L4♠.
HCP 13
Points 13

Response to 1NT?

1000-14
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Evaluate the hand?
Shape 4432 bal. L4♠.
HCP 13
Points 13

Response to 1NT? 2♣ Stayman, planning
3NT if a misfit or
4♠ if a spade fit.

1000-14
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Evaluate the hand?
Shape
HCP
Points

Response to 1NT?

1000-03
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Evaluate the hand?
Shape 4333 bal. L4♠.
HCP 5
Points 5

Response to 1NT?

1000-03
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Evaluate the hand?
Shape 4333 bal. L4♠. 
HCP 5
Points 5

Response to 1NT? Pass. Too few points to use Stayman
and no L5+ suit for WTO.

1000-03
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Evaluate the hand?
Shape
HCP
Points

Response to 1NT?

1000-05
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Evaluate the hand?
Shape 5422 unbal. L5♠.
HCP 13
Points 14

Response to 1NT?

1000-05
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Evaluate the hand?
Shape 5422 unbal. L5♠.
HCP 13
Points 14

Response to 1NT? 3♠ forcing to game. Opener chooses
3NT (L2♠) or
4♠ (L3+♠).

1000-05
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Evaluate the hand?
Shape
HCP
Points

Response to 1NT?

1000-15
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Evaluate the hand?
Shape 5422 unbal.
HCP 4
Points 5

Response to 1NT?

1000-15
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Evaluate the hand?
Shape 5422 unbal.
HCP 4
Points 5

Response to 1NT? 2♦. WTO

1000-15
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Partner: “Stayman”1NT - 2♣

Partner: “Strong, non-forcing”Opening 2♦ 2♥ 2♠

Partner: “12 to 14”Opening 1NT

U3A Intermediate Bridge
Week 3 Responding to 1NT

FYI – Announcing & Alerting

http://www.ebu.co.uk/publications/ConventionCards-

SystemsInformation/Announcements%20Table.pdf

Announce

Alert

This covers all the declarable bids we will use in RWPB. Others may 
well need to announce and alert other things.

Opening 2♣ When asked, partner replies “Acol”
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Play

Divide yourselves into pairs and then into tables.

This week I do not plan to ask you to move, in future weeks we may.

NS have the pair number of their table.
EW have the pair number of their table plus 6.

When you have played a hand, pass it to the next numbered table in 
sequence. The highest numbered table passes to table 1.

And one last thing – as part of the learning process – I would like the 
partner of whoever has just bid to take whatever action is standardly
required (announcing 1NT to be 12-14 points, ALERTing a conventional 
bid, ...) – AND ALSO to give a brief description to the other three players
on what the bid means.

Any questions? Optional coffee... 20p PLAY

U3A Intermediate Bridge
Week 3 Play
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Week 3 Responding to 1NT

♣♦♥♠
The end

(Set hand references follow.)
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Week 3 Set Hands

Set hands

# Dlr Vul Source Dlr = Dealer, Vul = Vulnerability.

1 N None Really Easy practice 2 Set 6 Hand 1

2 E N/S Made up hand, see next slide

3 S E/W Really Easy practice 2 Set 1 Hand 3

4 W All Really Easy practice 2 Set 6 Hand 4

5 N N/S Really Easy practice 2 Set 1 Hand 5

6 E E/W Really Easy practice 2 Set 1 Hand 6

7 S All Andrew Robson Stayman & Transfers #1

8 W None Andrew Robson Slam #2

9 N E/W Really Easy practice 2 Set 1 Hand 4
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Week 3 Set Hands

Board 2

Dealer E

Vul N/S

E S W N
Pass 1NT Pass 2♠
Pass Pass Pass


